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= 27,986
& 6,996
= 86,555
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201 et 9| 32,580 30,444 2,136
01 AP 2t 2] H| 30,180 28,644 1,536
Ogtt4f=2y| 20,580
—AREE 7Y 250,000 x2=x12& 6,000
—J|1Jl 2 200,000& x1&5+12& 2,400
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—ol. 222 HME 2
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— A2 =4H| 500,000 *x13| x12& 6,000
—JIEt =28 S 115,000& 13| x12& 1,380
OF=1=1s] 8,000& x25H x4 Al x12& 9,600
02 E232%H| 2,400 1,800 600
OZ2222 ¥ HA 200,000& x12& 2,400
202 o4 | 45,475 43,656 1,819
01 2L Hl 45 475 43,656 1,819
OEM&Y JI=2g2F=& o]
120,000 252 x12& 36,000
O20H (s &4 5)
75,800& 25 x5 9,475
203 SR F & 8,100 7,500 600
01 22 Y RFAH| 3,300 3,300 0
OJ|HSdgeFa 275,000 12& 3,300
04 EANSIE L R2F=XH| 4,800 4,200 600
ORANSYYL =T (FA30005t)
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ClAHARXAH| (22 HII2EESIH) 35,382 33,755 1,627
= 27,986
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= 27,986
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= 6,996
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O 252 olAHY|
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= 27,986
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Os=2%d 22 93,000 92 x12& 10,044
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03 AIZH =X 2 =X H| 1,000 1,000 0
osggexza 20,000& x 10 x53| 1,000
301 et A= 727,433 613,400 114,033
= 27,033
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01 Al B & A 46 2 692,600 606,600 86,000
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HM: 2I)IEEHA(AMEER/EE)
oelr RIBEMY EERED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OB20l% sz8A(d0l=288,. 882301
018 ME2RHEAK=3) 2,000,000 *13] 2,000
SBEHAXN FAHEHEIMNLEAMY 5,000 10,000 A5,000
402 BI2H X 20| M 5,000 10,000 A5,000
01 SIZEXIEANSE X (M) 5,000 10,000 A5,000
OBEUHaAX =HEH MAALY
5,000,000 *1JF2*13] 5,000
SURTBX AL 4,100 2,900 1,200
= 2,050
= 2,050
307 Q12t0| ™ 4,100 2,900 1,200
< 2,050
= 2,050
02 DIZHBAAIE E X 4,100 2,900 1,200
OSsSgEs=2AN BX E=x4 100,000& #2327 2,300
& 1,150
= 1,150
OSeEK2A @A OHLH B 600,000 304 &~ 1,800
= 900
= 900
S22 92H XA 5,143 3,780 1,363
=} 3,600
= 1,543
301 et A= 5,143 3,780 1,363
& 3,600
= 1,543
01 M EXE 452 5,143 3,780 1,363
OsSEgs2AM 2=H X& 514,300& x10H 5,143
& 3,600
= 1,543
6.2 EX Holx==(=H|) 264,000 264,000 0
== 264,000
301 Bt A= 264,000 264,000 0
= 264,000
01 Al E & A 452 264,000 264,000 0
O6.25& 82X Holx=&(=Hl)
100,000 x220H « 12& 264,000
= 264,000
2X0|et E(MIEX/FALHEXH) 6,663,598 5,922,917 740,681
= 3,841,169
o=t 783,689
= 2,038,740
Zojel =X B 6,663,598 5,922,917 740,681
= 3,841,169
o 783,689
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Zojel =x =T

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 2,038,740
=L (=) X2 A 121,993 115,000 6,993
= 85,395
s 36,598
301 et d = 121,993 115,000 6,993
= 85,395
s 36,598
01 MEI2EZE 405z 121,993 115,000 6,993
OFM==((II=x) X 121,993,000 * 14! 121,993
= 85,395
[ia 36,598
Zopel ozHl XA 48,614 38,806 9,808
2 38,891
[ia 9,723
308 XXM SOIA 48,614 38,806 9,808
2 38,891
e 9,723
10 I 2 SOICHetE & & 2 E A I 48,614 38,806 9,808
O&OQl 2= Hl K& 48,614,000 14 48,614
2 38,891
s 9,723
ZOSSHAMMES2LE (BEH 2 S AH]) 2,000 1,350 650
= 1,000
[ia 1,000
301 et A3z 2,000 1,350 650
= 1,000
s 1,000
01 MI2ZE 6= 2,000 1,350 650
OMASHOQ XEH L Al K&
2,000,000& » 14! 2,000
= 1,000
s 1,000
ool MOEX &2 129,554 116,614 12,940
< 7,277
s 122,277
301 et a3z 17,554 17,554 0
< 2,777
[ia 14,777
01 Mel28E+06l= 17,554 17,554 0
OH2AFONQ ABYBOIZ 424 X
6,000,000& x2& *13] 12,000
OFe BxD|7 & HoLH XA
5,554,000& » 14! 5,554
< 2,777
s 2,777
307 21201 A 97,000 84,060 12,940
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 QI AAIE E X 4,000 4,000 0
ogeE Aeixe s 4,000,000 =1 CH 4,000
03 AU HEESAHEXS 23,000 20,060 2,940
OXHMZAEONCIES 29 XN 17,000,000 14! 17,000
OA2EHOIAE S 29 K&
4,000,000 « 1Al 4,000
Os0lelgs 29 X 2,000,000& x14! 2,000
05 QIZtREZ 70,000 60,000 10,000
OZOMHCIX(EMOHEA) 24
35,000,000 *2CH 70,000
402 SI2F 20| & 15,000 15,000 0
= 4,500
= 10,500
02 QX2 A E X (0| HTHS) 15,000 15,000 0
OZS & =HEAHIA 5,000,000& *3IFF 15,000
= 4,500
= 10,500
HOHQIE XD DX & 2,800 2,969 A 169
= 2,240
= 560
301 et A= 2,800 2,969 A 169
= 2,240
= 560
01 Al E & A %52 2,800 2,969 A 169
OZoHel BExXD1J] X< 2,800,000 =14l 2,800
= 2,240
= 560
ZO0Hel Ab3 & 24,960 23,368 1,592
& 4,878
= 20,082
307 2iz2to| A 24,960 23,368 1,592
& 4,878
= 20,082
02 QIZIA AAIE E X 16,260 14,668 1,592
OZOHRl HOAIA M= AEHZA
16,260,000 = 1Al 16,260
& 4,878
= 11,382
11T A EXAIEEX 8,700 8,700 0
OFOMQ AdE=ESAME 229 5,000,000& * 14! 5,000
OAM2LAEHIAE S MAARAEI S=HE
2,300,000 =14l 2,300
Os0telgs =3tna 5 X
1,400, 000& x 14! 1,400
ool el X2 (et dxtel) 312,844 152,000 160,844
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S
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e
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312,844 152,000 160, 844
156,422
46,926
109,496

A

04 DIt Z22XsE+ 312,844 152,000 160,844
OZHA LRl X (LeradRtel)
312,844,000& * 14! 312,844

156,422
46,926
109,496

Mo H

ZOH L X2l X (=X L Xtel) 79,640 64,000 15,640

34,320
15,796
29,524

Mo A

101 1Al 79,240 63,600 15,640
34,120
156,736
29,384

Mo A

04 J12tHI

ry
HU

on
i
4

79,240 63,600 15,640

O
021
2
re
ue
=
o
Pl
FY

(2EXLX2l) el

68,240,000 1Al 68,240
34,120
10,236
23,884

MW

OFOMeILXel (= XtA) X2 A

11,000,000& » 14! 11,000
5,500
,500

VNN
o

201 fEt2E | 400 400 0
200
60
140

M H

01 At ]| 400 400 0
OFML LRl X2 (SXLXtel)
400,000& » 14! 400

200
60
140

Mo R

ZHOH QI L Xhel K& (Al 2ERMI L Xtel) 55,900 48,000 7,900
27,950
8,385
19,565

MR

101 1Al 55,900 48,000 7,900
27,950
8,385
19,565
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oy

127,829

5 - 4
M- B (B H) - NSAY - B %@ﬁ 2t
04 JI2ZtHIZ2 2 NEES 55,900 48,000 7,900
OXOHQI L Xtel K2 (A FA L XHel)
55,900,000 = 14! 55,900
= 27,950
& 8,385
= 19,565
AR L A XA 29,464 28,356 1,108
et AH| 14,364 13,256 1,108
A2 22| Hl 13,364 12,256 1,108
Ogst=2H| 11,500
~HASTOHY HBAMK 23
2,500& *3008 x12& 9,000
—222 % 2 EEH 7
1,500, 000& *13] 1,500
— &0 AsSHEXN 2 500,000 x23| 1,000
osd44¢ 1,000
— 0ol QAN W= ZAES
1,000, 000& *13] 1,000
==l 8,000 x3H 34 x12& 864
2Z2249H| 1,000 1,000 0
OXtg - &ty 1,000
—&0e XNHFARES P2 500,000& *23| 1,000
o4 gl 5,400 5,400 0
1 2L Yl 5,400 5,400 0
OFOMC 22X dH| 20,000& *3H 90 5,400
AR =X 700 700 0
EEEEETE] 700 700 0
OHOM Hd2=x=& 20,000 *7H *53] 700
ot A= 5,000 5,000 0
SHALAIHI B AZ 5,000 5,000 0
OFOMHO A BA B43
50,000& *10¥ 103/ 5,000
oIz2tol A 4,000 4,000 0
DIZFSHAFALE B X 4,000 4,000 0
O&X&EOI2 & J|EsA 2,000,000& *13] 2,000
OZSZ&0Hel LIES0| A 2,000,000 *13] 2,000
A2 1,420,325 1,285,068 135,257
= 994,228
= 127,829
= 298,268
ot A= 1,420,325 1,285,068 135,257
994,228
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298,268
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01 Al 2&H =062 1,420,325 1,285,068 135,257
= A= 1,420,325,000& 14| 1,420,325

994,228
127,829
298,268

M A

(e ) ANFAMY 130,000 130,000 0
91,000
39,000

M

301 LEE NS 130,000 130,000 0

91,000
39,000

AW

01 M2 H+0l3 130,000 130,000 0

130,000,000& * 14! 130,000
91,000
39,000

MW

HEZMe SMHIEX R 3,000 4,000 A 1,000
2,100
270
630

EURL Y

301 LEE A= 3,000 4,000 A 1,000
2,100
270
630

Mo

01 M2 H 203 3,000 4,000 A 1,000
OdEMe s4&HIEX & 1,000, 000% «3H 3,000
2,100

270
630

Mo A

Cdl =¥ 19,200 22,080 A2,880

5,760
13,440

EUNE

301 et d = 19,200 22,080 A2,880
5,760
13,440

EUNL

01 A28 H =dl= 19,200 22,080 A2,880
O&Hl ZoH=E XZ A 20,000&~80H 128 19,200

5,760
13,440

M

HOoHe =01 X3 A 86,000 86,000 0

34,400
51,600

O
Ol

EURLY

307 21201 A 86,000 86,000 0

34,400
51,600
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Sl Zojel =X SA (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 82,700 82,700 0
OZZEZML TR0/ XH AL
82,700,000& » 14! 82,700
< 33,080
e 49,620
11T M SXASEEX 3,300 3,300 0
OZZZMH2 ZR20IXIH A 3,300,000 *14 3,300
< 1,320
s 1,980
oI SXNSEUSE 25,000 25,000 0
307 21201 A 25,000 25,000 0
04 QIZFHALAIH B = 25,000 25,000 0
O&oel =XSaHE 25,000,000& =13l 25,000
HOANEXEEH 23 X& 50,000 50,000 0
< 15,000
s 35,000
307 21201 A 50,000 50,000 0
< 15,000
i 35,000
11 AL S RAEE X 50,000 50,000 0
OZOMQEOAIL XJME 28 XA
50,000,000& =14 2 50,000
< 15,000
s 35,000
Zopel tEXNMH 2 79,000 75,000 4,000
= 22,500
s 56,500
307 21201 A 79,000 75,000 4,000
= 22,500
[ia 56,500
04 DIZHHALALSE E X 4,000 0 4,000
O=Z M IIsHEZT 2% 4,000,000& 13l 4,000
11T MISXASEX 75,000 75,000 0
OZOY JIIEXNJAEH 28 XN
75,000,000 14 & 75,000
< 22,500
e 52,500
e dEE MBS 20,220 20,220 0
< 9,510
s 10,710
301 et d=s 5,220 5,220 0
= 2,610
s 2,610
01 MEI2EZE 06z 5,220 5,220 0
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SN BA(SA) - MRAY - BES il HImEET
ONHZOS FA55 4 pE
3,600,000& 3,600
307 glz2tol & 577,630 536,975 40,655
= 171,880
[ia 405,750
10 AL SXNAIEHE2EH 2 577,630 536,975 40,655
ZOe SHIESAIE 2
170,000, 000& * 14 170,000
< 20,000
s 150,000
O=xstEsddy 299 45,000,000& 45,000
< 5,650
[ia 39,350
OZoel M&0lskMH 66,000,000 66,000
< 6,800
s 59,200
OZME SsH&IE 2 20,000,000& 20,000
< 2,000
[ia 18,000
OAIZEHR F2AES A 80,000,000& 80,000
< 40,000
s 40,000
OFHe HNATHEANE 2 18,230, 000& 18,230
< 8,230
s 10,000
OZOHQ dEANEEXE ba=Gf
14,600, 000& 14,600
< 7,300
s 7,300
OHMAAE SAX =& 163,800, 000& 163,800
S 81,900
s 81,900
ool esXASH XA 853,457 728,931 124,526
= 595,656
< 76,584
s 181,217
201 Let249] 2,520 2,520 0
01 At 22l 2,520 2,520 0
O &5 X2 &o(0l)f s 2ga¢
,000& «3H *123] 2,520
307 21201 A 850,937 726,411 124,526
= 595,656
< 76,584
s 178,697
05 BIZHRI & 3 850,937 726,411 124,526
OO &5 X (HHe &HIIL2)
850,937,000 850,937
= 595,656
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

= 76,584
= 178,697

SSEX JIeZ20 872 1,003 A 131
= 610
= 79
= 183

307 2Iz2t0| & 872 1,003 A 131
= 610
o= 79
= 183

05 QIZ2tR E 2 872 1,003 A 131
OEsEX Jat320 872,000 872
= 610
o=} 79
= 183

SRRl BERAI A4S XS 3,840 1,920 1,920
= 2,688
& 576
o 576

307 QI2t0| ™ 3,840 1,920 1,920
= 2,688
& 576
= 576

05 QIZtRES 3,840 1,920 1,920
OF2 Aejas XJAY 3,840,000 3,840
= 2,688
== 576
= 576

S THE A A BISH K& 58,320 86,400 A 28,080
= 40,824
o= 8,748
= 8,748

307 2Iz2t0| & 58,320 86,400 A 28,080
= 40,824
o= 8,748
= 8,748

05 QIZ2tREF 2 58,320 86,400 A 28,080
ogde & AMdlA 58,320,000 58,320
= 40,824
& 8,748
o 8,748

ZOHUAHFAIE 22H & 2,524,465 2,275,015 249,450
= 1,767,125
= 227,201
= 530,139

307 giztol & 2,524,465 2,275,015 249,450
= 1,767,125
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 227,201
s 530,139
10 ALSISXAIEEE2EHEX 2,524,465 2,275,015 249,450
OHMANF=AIE 2¢ 2,524,465,000& 2,524,465
= 1,767,125
< 227,201
[ia 530,139
COASRNSE(ASIEX /0l - HAH) 29,729,207 25,570,497 4,158,710
= 21,374,932
= 1,411,627
i 6,942,648
LoEXEsd 23,434,729 20,139,978 3,294,751
= 20,411,119
< 620,004
[ia 2,403,606
ZI23 &AM 96,600 71,600 25,000
101 @14l 2,600 2,600 0
4 D12t ZE2EXNEES 2,600 2,600 0
Oogz =4EXN&EH o2
200,000 13 S 2,600
207 A RO H| 15,000 0 15,000
01 289 15,000 0 15,000
OHTEZ2SINE 9| 15,000, 000& 15,000
301 L2 A= 69,000 69,000 0
01 Al EE H =06l = 69,000 69,000 0
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